RANGER RZR 570 REAR BUMPER
KIT P/N 2878697

Ce POGOLARIS

The Way Out.

Application
Ranger RZR 570

Before you begin, read these instructions and check to be sure all parts and tools are accounted for.
Please retain these installation instructions for future reference and part ordering information.

This Kit contains:
Qty Part Description
1 WELD-PRE RUNNER BUMPER, RZR-570 (P/N 1018337)
2 M8X1.25X55MM SELF TAPPING BOLT
3 M8X1.25 NYLOCK NUT
4 M8X1.25X20 HEX BOLT

You will need to supply:
Metric socket set Metric wrenches

IMPORTANT: For your safety and to ensure a satisfactory installation, perform all installation steps
correctly and in the sequence shown. This bumper is designed exclusively for the RZR 570 and will
not fit other models. Please read the installation instructions thoroughly before beginning. Installation
is easier if the vehicle is clean and free of debris.

INSTALLATION INSTRUCTIONS

1. Unpack bumper and hardware making sure all components and fasteners are accounted for.

2. Carefully place the bumper against the back of the machine as shown in figure 1. Use two
M8X1.25X20 bolts and two M8X1.25 nuts (indicated in figure 1) to hold the bumper in place.
Bolts should be left finger tight at this time.

3. Install the remaining M8X1.25X20 bolts and M8X1.25 nuts in the lower bumper holes. All
fasteners should still be finger tight at this time.

4. Install the two M8x1.25x55 self-tapping bolts in the upper holes of the bumper as shown in
figure 2. The upper bolts should be tightened until snug. Take care not to over tighten bolts
because doing so can strip out the frame.

5. The lower M8X1.25X20 bolts and M8X1.25 nuts should be tightened at this time.



Install and tighten
these bolts in step #4

p——
Install these bolts |
in step #2

-y,

-

F‘h' " B r ‘;:;; Jk: 'I!:;' .’:g-!?

—— O N Y S t' Install these bolts
FIGUREL | g ©| instep #3

PIN 1018337

ITEW PART NAME 1Y

| WELD-PRE-RUNMER BUMPER,RIR-510

FIGURE 2

2 MBX 1, 25X55MM SELF TAPPING BOLT

3 MBX 1. 25 WYLOCK NUT

o fro | —

4 [MBXI.25%20 HEX BOLT




